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1. (A) Give the meaning and characteristics of Tax Planning.
OR

(A) What is the importance of previous year and assessment year
Explain with definition.

(B) Write short notes on any two :
(1) Residential status
(2) Tax Management
(3) Tax Avoidance
(4) Reasons for tax evasion
(C) Answer in one or two sentence : (any

(1) Give two examples of direc taxes.

(2) What is the imp.anc

(3) How much incom
into India duri

person for tax planning ?

to previous year 1s taxable 1f they brought

4) 1 Patel is ¥ 10,00,000. He paid Life Insurance

. What will be the Tax Liability for A.Y. 2014-15 ?

2. (A) S g in Mumbai in a private firm. His monthly salary was
ess Allowance 60% of basic salary (out of which 50% 1s
for retirement benefit) Medical allowance I 500 p.m. Transport
is ¥ 2,000 p.m. company gives him following two options, which

ould accept ?

ption—1  House rent allowance of X 10,000 p.m. is to be given and he will
pay < 7,000 p.m. as rent of his residence.

Option—2  Residential house owned by employer is to be given to him for
residence.

OR
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Shri Rajnish retired from a company at Ahmedabad on 1-8-2013. At the time of
retirement his salary was T 18,000 p.m. He served for 34 years and 10 months.
He gets an increment of ¥ 1,000 on 1-4 every year. As an appreciation he got an
additional increment of X 1,000 on 1-1-13 also. He got T 7,00,000 as gratuity. He
was also getting 50% of basic pay as dearness allowance which was a part of
salary. Calculate Taxable amount of gratuity for A.Y. 2014-15.

(i)  Which item should be kept in mind for the tax planning of income of self
occupied residential house ?

(i1)) Which deductions are available for tax planning from the income if rent of
house property ?

OR

Smt. Irani gives following information for F.Y. 2013-14. Calculate taxable
amount of capital gain. Give your suggestions to reduce tax liability.

Particulars Urban Land ~ Jewellery
Date of purchase 15-1-1980 1-4-1988
Purchase price 1,80,000 3,22.000
Selling price 26,00,000 22.50,000
Date of selling 1-6-2013 1-6-2013
Fair market value on 1-4-81 | 2,00,000 1-
Index 100 161

Index for F.Y. 2013-14,939

An Indian compafly Wants to»collect ¥ 75 lakhs for its new venture. The
company is expécting EBIT of 30% on this investment. Company can borrow
money from the market at rate of 12% p.a. The company has following three
options fer its capital structure.

Option = I~ Entire amount is collected through Equity shares.
Option— 2 Debt — Equity ratio is 2 : 3
Option—3.  Amount borrowed as Debt is 60% and rest as Equity Shares.

Assume Dividend payout ratio to be 80%. The Total corporate tax is 30.9% and
tax ofi dividend distribution 1s 16.995%. Advice the company for the selection of
proper capital structure.

OR

Discuss in detail taxability of dividend distributed by company keeping in view
Section 56 (2)(1) and Section 2 (22) of the Act.
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(B) Attempt any two : 4

(1) Book profit of a company for the Assessment year 2014-15 is T 50 Lac.
Total income i1s ¥ 25 Lac. This includes L. T.C.G. of T 4.00,000 and
S.T.C.G. of X 2,00,000. What amount of tax will be payable under MAT ?

(2) List the points to be considered while selecting capital structure of a '
company.

(3) What type of Tax concession is available to the shareholders of
amalgamating company ?
(C) Attempt any three :
(1) Name the Section applicable for MAT provisions.
(2) What s Inter Corporate Dividend ?
(3) Who is liable to pay DDT ?

(4) Mention the basis for deciding residenti

4. The return of income for assessment .ve of XYZ is T 14,00,000. The

Advance Tax deposited is as under : 14
On15-92012 - %70,

On 15-12-2012 -

On 15-03-201 ,000

Actual return 1 2014 Assessment was done u/s 143 (3) at ¥ 16,00,000 by

assessing o 2014.

The T 32.600 as tax deducted at sources.

Co payable u/s 234 A 234 B and 234 C by XYZ Ltd. in following

On filing return of income

On Assessment of income

OR
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(A) In relation to Tax planning explain the decision regarding “Production” or

“Purchase™. 7
(B) Compute the Advance Tax Payable by Mr. X from the following estimated
income for the Assessment year 2014-15 Advance. 7
Particulars L4
— Income from salary - 3,{]0,0{}0'
— Income from H.P. - 2,

— Interest on Fixed Deposit -

50,
— Receipts from Horse Race -
— P.F. deducted from salary - 0,

— LIC Premium paid for dependent father (Age — 62 year)

— Tax deduct at sources 15.620

5.  Select correct answer from the given options : 14
(1) DDT 1s payable when the dividend distributed

(a) 80% of profit

y exceeds
1t

(c) Any amount 0,

(2) Companies registered u/s 25 of ct includes

(a) Company witho
(b) Nidhi or Mutual b Company

tion of art, science charity

3)

on of company

p Sale

ver

(d)

ersion of a company into firm

Y. for P.Y. 2013-14 1s
(a) 2012-13 (b) 2014-15
(c) 2013-14 (d) 2011-12
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(6)

(7)

(8)

9)

(10)

(11
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Minimum days require to stay in India to become resident are
(a) 30days (b) 60 days
(c) 182 days (d) 365 days

Transport Allowance is exempt upto
(a) < 1,000 p.m.
(b) 500 p.m.

(c) 600 p.m. \
(d) 800 p.m.
From the annual value of let out property how much pcrccntagc( S

t for more than

available ?
(a) 10% (b) 20%
(c) 30% (d) Nil

Profit earned from the sale of shares is exe
months.

(a) 6
(c) 24
ent of tax ?
(b) 24%
(d) 100%

What is the rate of interest charg

(@) 12% &

(c) 36%

How much am
from tax ?

sum pension received by private employee i1s exempt

(b) 1/4
(d) 100%
i got ¥ 3,000 p.m. as children hostel Allowance from his employer.

ildren are staying in hostel. One child 1s studying in a college and
1s working in Relhiance Ltd. How much amt. of allowance 1s taxable ?

(b) T 3,000 p.m.
< 2,400 p.m. (d) 2,700 p.m.
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(12) What amount of advance tax should be paid by non corporate assesses before

31-127?
(@) 20% (b) 30%
(c) 40% (d) 60%

(13) A building constructed on agricultural land and used for the resident of a farmer '
then its income is considered as

(a) Income from house property

(b) Income from business \
(¢) Income from other sources o

(d) Exempted income
(14) Mr. Jagdish is aged 56, paid medical insurance Premium of 3*[]1# much

amount i1s available as deduction under section 80 D ?

(a) < 15,000 (b) <20,
(c) < 30,000 (d) Ni

%
>
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